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The curve above is drawn in the xy-plane and is described by the equation r = -1 + 3sinθ in polar coordinates. 
a. Find the area of the shaded region. 		3 points
b. Is the radius increasing, decreasing, or neither at θ = π/3. Justify.		2 points
c. Find the equation of the line tangent to the graph at the xy-coordinate (1, 0).	4 points	
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The curves above are drawn in the xy-plane and are described by the equations r = 2 + 2sinθ and 	r = 4cosθ in polar coordinates. 
a. Find the x and y coordinates where the two curves intersect on the interval [0, π]
b. Find the area of the shaded region bounded by both curves in the first quadrant.
c. Find the slope of the tangent line on the curve of r = 4cosθ in terms of θ.
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